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1. Find a basis for W+,

2. Decompose b = {

2 0 0] PO
,wx@

So

1
1 } into orthogonal components by and by.
i
' - e R
Lo “g Ker sohves
5 1o 3 . \j YRE= 0O
- 2?21

13)=45)

mziiéixfﬁo‘3§_22; o =30
Vo0 T3 ..:s{aﬁi *jw*c%7~3 N
— IR R T A A A e -1 4 ©
! ! gig *"ii> TR,
+3¥s
Ve -3 | Do -3 i _,7523> [ o o | &N
o v 7! o1 7 |~ ot 0k
o o n |-l TV L0 o || oo |-t
R
(R
H éﬁ? ] -
En(g i E
iéj :-—-ﬁi-%] = T 'S‘{
WJ E‘__} =
. B ER
§ o | ?
ane 55‘}? _h_% ?E‘H/f?};%[% | -
P T AT B _gzj \
Ldw T
i
S Rt N
| S A T T T BT I )
[ oigo - 5”"’3} it éig 1) !
LE‘E ‘%ﬁgi i d
COMMENT S



/.

Ly

we kﬁgw of i

, , 3 )
wWrs dim K= W= 3227

) ﬁwi”

S0 we will have | elemenl in Hhe hasis 9 :

fz 0 P10 o
Kow ?é@;{,éé;!?j? %g g "'%?@g v | &;{}w@@g‘ é_gxg J§
Ll ew N
A Lor all Fhree

&émmfmﬁgé%;f}f?g g’:’{@?\}%&; - e,

%*?éﬁﬁ@; &r@"f basis vec fors ﬁiﬁz ant €3
Vnneessary, Theu
] 1 Y &0 I
% S 3 F
K ' =€y 1E7 ) )y et

, ;”“ \ ,,.L i 5 . i .
o U [ ggﬁ; %g%é’?‘? *gﬁf??z +O y‘if jgg *}ﬁg;ﬁé

4
wWe can Aesl =
rz 0;
. L i ] o I g{@%@g [,
13 &ﬁ“?wﬁw? with |1 s
g‘“”%
;«5‘? ?’ ; - ~
{mzﬁ{ 55’% ’ ; Q}fg?ﬂ%{;;@v{}wfw Z4
P51 ]3] aawi= 00 ane bt
;%j IR
P
rt7 4. ! +
; ; [ 4 nol ¥ @j YR AR
Co gwf’ would be clear ThRA Led ! 1
, I
it gé)f
efe\g«’? g"’g : f ff j{i?ﬁ1§ 2.:: n,i%@i.-
Eéﬁ{‘%éf"?%r‘?’f $§”§§§ g P g g;}g é; Lo ?JL £5 f§j§f
: i - { -
LoaTh )



